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T Hl 2,909,109
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SE2Z9 JE - x2F - 8Ot 195,890 132,500 63,390
8|18 - 88 111,950 68,650 43,300
201 Let24d] 53,250 65,650 A 12,400
01 At 22l 53,250 65,650 212,400
OFZYRAHEN M= 10,000& x1,000% 10,000
OoXgll=ig M= 6,000& x200% 1,200
OYREIN S HE 13,000, 000& 13,000
OdZ=+=& M= 13,000, 000& 13,000
OFZEAE AN 2HMHE EH S 3,600,000& 3,600
OFRE2E4Y 228 M 6,000,000& 6,000
OHE=SE M 1,800,000 1,800
ORMZ MY 2EARH 4,650,000 4,650
203 YR =&l 2,000 3,000 A 1,000
03 Al F=XH R =AY 2,000 3,000 A1,000
O& - &) J/&8 g2F4 1,500, 000& 1,500
OAIZIHE HRF2 500,000& 500
207 A& 55,000 0 55,000
01 2284 55,000 0 55,000
OAMot= Z32xd S =8
55,000,000& 55,000
303 &3 1,700 0 1,700
01 Z2&= 1,700 0 1,700
O™ Ot0ICI ZHHE3l JHxl 1,700,000 1,700
TRYPEI 5,420 5,900 A 480
201 LB-2E | 3,700 3,700 0
01 At 2t 2l 3,700 3,700 0
O4dnt2eld= A WA 3,700,000& 3,700
202 oddl 720 1,200 A 480
01 = LH o4 1l 720 1,200 A 480
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01 Z&= 1,000 1,000 0
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O3 E0M M= 11,000, 000& 11,000
OOHLIHAE O™ 2,000,000 2,000
OFZYAN M= 5,000,000& 5,000
ORHMME Btz N S 240,000& 240
202 4l 480 0 480
01 =L o4 1l 480 0 480
OXIAIALE & =0l (Ol 20,0003 x2H 128 480
203 YR =&l 1,450 0 1,450
03 AIMF=XH R =AY 1,450 0 1,450
ORQEIE 74 HRFA 1,000, 000& 1,000
OFMHIIE R 450,000& 450
93 XA 6,000 5,600 400
201 Let24d] 5,500 5,100 400
01 At 2teltl 5,500 5,100 400
O2slM&EAE M= 5,500,000& 5,500
203 R =&t 500 500 0
03 A F=XH R =AY 500 500 0
OFXE F2=a 500,000& 500
HI&CHHIEHAl RS X2 800 800 0
201 L2l 800 800 0
01 At 22l 800 800 0
OSXgs &8 M 500,000& 500
OSXgs Sgaad 24 300,000& 300
=HUsE =& 50,550 50,550 0
201 LB-2E| 13,050 13,050 0
01 At 2t 2l 3,050 3,050 0
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06 BI12HRI =2 2| (4 HI 5,000 5,000 0
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- Ol abA 35,000& *1002 *23] 7,000
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A OLX| O &F 13,000& 70 910
OBIMEAEM MH 7,000& x100% 700
OMEAY lwg HE 13,200& *1002 1,320
OJIZ2=28AHEM MH 4,000& *60F *x23] 480
O0l&tN 25MHF ME 2,000 x60F 33| 360
FOEAHMAMRARS Motz S HE
600,000& 600
OFoUEHUA =8 89 70,000& *3JH 2~ 210
OouaEe ARE 2,000,000 2,000
02 352494l 2,289 2,223 66
OMEBAESIMAIAE S22 2,289,000 2,289
202 (4] 2,920 2,920 0
01 2LHOHI 2,920 2,920 0
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OXNgEXZ AlDZAZ 5,000,000& 5,000
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01 2o 2 10,000 10,000 0
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10 SISO USHE AN EAIS I 28,241 26,702 1,539
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201 et A | 75,000 75,000 0
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O2gd (&3s22l) 5,000,000& 5,000
ORALS o (ds2eal)
50,000,000& 50,000
202 04t 145,000 140,000 5,000
01 2L Y| 95,000 90,000 5,000
O32& 2AA&EF bl (&ds22l)
95,000,000& 95,000
03 =L 20 bl 20,000 20,000 0
O232& 2A&EF ol (&s22l)
20,000,000& 20,000
04 = X3 bl 30,000 30,000 0
OdllAIE & 4T (ds2al)
30,000,000& 30,000
405 XHo&HF SHI 30,000 30,000 0
01 JtAtY = ZF SHI 30,000 30,000 0
OXal & SEFSH (E322l) 30,000,000 30,000
ge=s U2 - SAH 165,322 179,656 AN 14,334
AlH] 37,216
ksl 128,106
XSS H = A 74,432 76,476 N2,044
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OXNYSEH =ARE 74,432,000 74,432
Al Bl 37,216
sl 37,216
SH= 3,990 3,990 0
201 LEt2 Y| 3,000 3,000 0
01 AFR2t2ldl 3,000 3,000 0
OSHHAEE H& 30,000& x1002 3,000
202 (4] 540 540 0
01 2ol 540 540 0
OsSAHANsz£=E S 20,000& =18 360
OX <SS H == A 20,000 x9& 180
203 P2 E= Y| 450 450 0
EEEEEST 450 450 0
O8H g2FA 450,000& 450
ArEH 86,900 97,500 A 10,600
201 Yer2 | 41,950 47,950 6,000
01 AP 22l Yl 41,950 47,950 A 6,000
O8&ds L 3= 400,000& 400
OAMSX & a2 3,000,000 3,000
OHEXZAM 150, 000& 150
OLNESHSAI =& 165,000& x2H ~12& 3,960
OASES/AUHS A &2 30,000,000& 30,000
O#A™ALD GBS M AR 1,240
g4 190, 000& 44 760
- 2AMEX 20,000& x248F A 480
ORz HE 2¢ 2,200
HS A 2&8+Y BX 50,000& *203] 1,000
=E2= N &b 700,000& 700
g4I S S9EE 7 500,000& 500
OXN2HR HILIE 29 1,000,000& 1,000
202 O B 2,000 1,600 400
01 2L Y| 2,000 1,600 400
O&REsS (¢l 20,000& x50 x2H 2,000
203 PR =&H| 450 450 0
03 A F=XH R =XH| 450 450 0
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OHRAME L A5 HRFA 450,000& 450

301 dEtE X = 20,000 20,000 0

12 JIEtE &2 20,000 20,000 0
OHS A S2Ad 2 2,000,000& *10A4 20,000

303 ZA& 2 2,500 2,500 0

01 ZA& 2 2,500 2,500 0
O&54L323 T4 100,000& *25AH 2,500

305 tHAa=2S 20,000 25,000 A5,000

01 HIMNSS 20,000 25,000 A5,000
O35 ta 20,000,000& 20,000

H& 22 1,940,968 1,913,180 27,788

04l 51 8l 1,940,968 1,913,180 27,788

ol gl gl 1,940,968 1,913,180 27,788

801 0l 5l Bl 1,940,968 1,913,180 27,788

01 etalblbl 1,940,968 1,913,180 27,788
Oulyl gl 1,940,968,000& 1,940,968

HHSAHAY (JI&E4) 85,992 18,006 67,986

Jl2& bl 85,992 18,006 67,986
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201 et A | 15,192 14,406 786

01 AFR22t2l Yl 15,192 14,406 786
ONM2g+2H| 8,280,000 8,280
OJlages8 2| 6,912,000 6,912

202 4] 67,200 0 67,200

01 2LHOHI 67,200 0 67,200
OJI=2gR2+=80 bl 20,0003 *20H * 142 x12& 67,200

203 R =&Y| 3,600 3,600 0

04 ENSI R =AY 3,600 3,600 0
ORN2II2F&Y| 3,600,000 3,600

MWREas(084) 224,752 228,502 AN 3,750

BdX= 161,250 165,000 A 3,750

s AIAE 150,000 150,000 0
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